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SANA=H 12,958,417 14,140,502 A 1,182,085
= 2,151,982
s 1,350,000
< 822,386
s 8,634,049
WESEANSHEH 9,851,228 11,319,488 A 1,468,260
s 1,350,000
< 520,000
[ia 7,981,228
SAZ2EH 9,851,228 11,319,488 A 1,468,260
s 1,350,000
= 520,000
s 7,981,228
SANHE I 56,130 48,290 7,840
201 YEt2 Ayl 39,930 34,730 5,200
01 At 2teltl 18,810 18,730 80
0 €et=2H| 5,040
o MAARE E MRESFY
420,000& = 12& 5,040
OUMER=ER 15,000& * 6% = 12& 1,080
0 28+% 10,650
o StsZAHEAJS LA SL RS (1238]) 7,500
o ot=z 2SS EAxLXlZ(58) 3,150
0 19702 22|83 & 4235 7¢
170,000& » 12& 2,040
02 =224l 21,120 16,000 5,120
0 ots 19702 E=32= % HAl 16,080
o MIIR=a, dotxrk 2=
840,000& = 12& 10,080
o A8, s A2
500,000& = 12& 6,000
OotsE AMIA HEEZSE 232 & MA
420,000& = 12& 5,040
202 oddl 13,200 10,560 2,640
01 = LH o4 1l 13,200 10,560 2,640
0 2ol 220,000 = 5% = 12& 13,200
203 YR =& 3,000 3,000 0
03 Al =AY R =& 3,000 3,000 0
0 Z2clHE =8 =& 3,000
= 2l A& =8 120,000 0 120,000
401 Al HI K 2018 120,000 0 120,000
01 A& Hl 120,000 0 120,000
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SAHE HASALY 75,000 75,000 0
201 L2l 75,000 75,000 0
02 =224l 75,000 75,000 0
OSt=sZ=AAEAEHMA(UPIS) DB = (14]) 25,000
0 SIS AIIEE 2 A H (UPIS) AIERH SX
Zeldl 25,000
0 EXIHEE A (KRAS) A& EHdHl X228l (14
) 25,000
StEsE AJX HEZ S3SAE 1,890,000 1,567,000 323,000
401 AIEHI L 2 CHYI 1,890,000 1,567,000 323,000
01 A& HI 1,890,000 1,561,900 328,100
0olSS AIJIX HEZ Z3A3HAI (L=815m) 1,700,000
0 S&ZEN THMAIY wEtEIE o MAIEH
g2(14) 150,000
0ct=8 AKX HEZ OFM3H ATH(L=1.0km) 20,000
0ot=S& AIJHAI HIES CCTVA XI(3CH) 20,000
HEEF2 SN2 22 33,855 20,000 13,855
101 @124l 13,855 0 13,855
04 JIZHHZ2Z2XNSE+ 13,855 0 13,855
0 HECSS A2 JIZ2tH 22X AlS
72,160& = 18 * 192¢& 13,855
401 AIEHI L 20 20,000 20,000 0
01 A& Bl 20,000 20,000 0
0 HEZFR2t RXNE4 22l (L=22.3km) 20,000
o HECH2 SNE=(EHI ANEESS) 20,000
SANY 2HXA 32,008 32,020 A2
201 et 24,088 24,100 A12
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0 Bt=EHl 7,000
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02 =524l 17,088 17,000 88
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00m) 300,000
02 SAHEER2(AR2-295) ME =2 AH(L=1
60m) 200,000
0= MET-=2 e Z2AH(L=100m) 200,000
0 3t MET 2 JiaZAHL=100m) 200,000
NDEANHEEZIHSE 400,000 200,000 200,000
401 A& HI L 20l 400,000 200,000 200,000
01 Al&H| 400,000 200,000 200,000
0 X1 SAHEER2(AR2-55) MEZAHL=16
3m) 300,000
0 &1 SAHEER2(AR22-65) A ZAHL=60
m) 100,000
SAAEEZ R 1,055,978 865,978 190,000
101 e1214| 25,978 25,978 0
04 J|12ZtHIZ22NEES 25,978 25,978 0
0 SAHEAE S22 o2
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0 XbH =M (L=2Km) 50,000
0E2 =X S &Y Y MHWE24(A=2,000m") 100,000
0 MM ANEZ LHEH L SXNEL(60A) 20,000
0 KIRE 2o W S2FHI (5 A) 100,000
0 0lE¥ets ot==29 F=XE X4 AN (A=200
m) 200,000
AJEX 1& HHIAY 50,000 40,000 10,000
401 Al EHI L 204 HI 50,000 40,000 10,000
01 Al&H| 50,000 40,000 10,000
0otls SAHES oI = A H| (L=0.7km) 30,000
0 & SAHEBEZ 2= AH|(L=0.5km) 20,000
KNS AS 703,000 1,003,000 A 300,000
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401 Al HI L £ 0HHI 703,000 1,003,000 A 300,000
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ZI0IZSEANE & DI=2EXN2Y 200,000 200,000 0
401 A& BIZ 201 8I 200,000 200,000 0
01 A& HI 200,000 200,000 0
0O BJIDIEEAIE L DISSX BEA43(20EX) 200,000
MR XIESst AHS 830,000 1,078,280 A 248,280
401 Al HI & 28I 200,000 115,280 84,720
01 A& HI 200,000 115,280 84,720
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< 20,000
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03 A2 Z Hl 40,000 0 40,000
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< 20,000
s 20,000
301 LEXZ 6,000 0 6,000
09 HALAHIX A S 6,000 0 6,000
0 =QEAN 23 500,000& * 123 6,000
307 21201 A 130,000 0 130,000
< 65,000
e 65,000
02 HAFAANFEX 130,000 0 130,000
0 RS2 A Al 10,000,000& =* 82l 80,000
< 40,000
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= 58,818
01 Al&Hl 810,000 3,205,730 N2,395,730
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0 TOZ2SH A2s AMA(ZAIMAULGE S)
10,000,000 = 123 120,000
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03 A& 2 HH| 3,818 6,222 A2, 404
0 Rels4HlAe)l 20l 3,818
405 XHAHF S HI 7,000 0 7,000
01 XA 2 ZF S| 7,000 0 7,000
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= 116,616
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= 116,616
= 29,154
MBS JIAEIYW®E B2 ALS 18,000 30,024 N 12,024
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= 9,000
403 XX SHHS K20 & 18,000 30,024 N 12,024
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== 245,908
s 245,908
=HZW(E83) 1,629,082 1,409,102 219,980
= 1,303,266
< 162,908
s 162,908
301 LEMZ 1,629,082 1,409,102 219,980
= 1,303,266
< 162,908
fia 162,908
01 MEIEBEZE+06l= 1,629,082 1,409,102 219,980
OJI=MExa Xt =AHSHASA
1,357,568& = 1,2000t+ 1,629,082
= 1,303,266
< 162,908
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= 664,000
= 83,000
s 83,000
308 XX EHHSOIA 830,000 500,000 330,000
= 664,000
< 83,000
s 83,000
10 B3I/ 2SoHUHSZAEEALS I 830,000 500,000 330,000
0 RN ==2X EEFHS0
9,222,222& » 90Jt+ 830,000
= 664,000
= 83,000
e 83,000
sSHE F=HEZE =4 234,496 249,374 N 14,878
S 33,348
s 201,148
FHEE HE =& 181,720 196,560 A 14,840
< 33,348
s 148,372
A=dy 2N 40,560 25,560 15,000
201 £B-2dH| 30,000 15,000 15,000
01 At 22l 30,000 15,000 15,000
0 Zt=2H| 11,000
o MMUARE MREES S
500,000& = 12& 6,000
o QAZFE BURE S 250,008 * 128 3,000
o R OISWHAZE 200,000& = 10& 2,000
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o= 6,000
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= 3,000
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= 3,000
= 7,000
SdI0lE XNSHE AL 91,160 106,000 AN 14,840
o= 27,348
= 63,812
402 QI2v X2 0| & 91,160 106,000 A 14,840
= 27,348
= 63,812
02 QIZEXIE A E X (0| XM THH) 91,160 106,000 A 14,840
022 e 20/ XSIH(43S)
2,120,000 = 43= 91,160
= 27,348
= 63,812
S2SFY ANAEHSE XA 30,000 30,000 0
402 QI2v X220l & 30,000 30,000 0
01 QI E A EXR (NI ) 30,000 30,000 0]
0 BSFE AIEMA XJAY 30,000
Az =1 52,776 52,814 A 38
AF0J 2AXA 52,776 52,814 A 38
201 et d| 39,576 39,614 A 38
01 AP 2t 2| bl 39,576 39,614 A 38
0 2Bt =H| 9,576
o ANRES F¢ 208,500 = 12&€ 2,502
o AZDIAHY BH L =25 M
400,000 * 33| 1,200
o MAMARE R 330,000& ~ 12€ 3,960
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SYUAMEY =& 57,241 93,976 236,735
DAMOLE NHIA 23t 57,241 93,976 236,735
Sgoaate] 24,373 24,776 A 403
101 @14l 21,373 20,776 597
04 JI2ZtHZ22EE = 21,373 20,776 597
0 QI5IJF 21 AFE 22 (1Y) 21,373
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S 2N 32,868 69,200 A 36,332
201 L2l 17,028 13,000 4,028
01 At 22l 10,020 13,000 A 2,980
0 €Et=2H| 835,000& = 12& 10,020
02 =224l 7,008 0 7,008
03323 % HAl 125,000& * 128 1,500
0 28X R 459,000& = 123 5,508
202 04l 15,840 13,200 2,640
01 = LH 4 Hi 15,840 13,200 2,640
0 =AYl 220,000& = 6H » 123 15,840
HE2IAZH(SAIASFD) 49,400 42,600 6,800
Jl2ZHl(ZAl=z1) 49,400 42,600 6,800
Jl2dul(SAIA=s1) 49,400 42,600 6,800
201 Let24d] 41,600 38,400 3,200
01 At 22/l 41,600 38,400 3,200
0 2M28 Let=EHI(2S)
800,000& = 269H 20,800
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